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1. Which of the following is true of ethanol production from corn?

(A) large scale production would take land out of food production

(B) it has unlimited potential to supply Taiwan with liquid fuels for
transportation

(C) There is potential for much air pollution from the fuels needed to concentrate
the alcohol through distillation

(D) it is very economical to produce even without government subsidies

(E) alcohol is more polluting that gasoline to burn

2. About of electrical power in Taiwan comes from nuclear power?
(A) 2-5%
(B) 13-20%
(C) 45-58%
(D) 66-75%
(E) 88-94%

3. Which of the following best describes biochemical oxygen demand (BOD)?
(A) the amount of bacteria in water
(B) a measure of the amount of oxygen needed to breakdown organic matter in
water
(C) the amount of dissolved oxygen in water
(D) the amount of biological metabolism by plants and bacteria

(E) the amount of biological and chemical wastes discharged

4.The international treaty to phase out the use of ozone depleting chemicals was
the:

(A) CFC agreement
(B) Montreal Protocol
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(C) Kyoto Protocol
(D) Clean Air Act
(E) Global Climate Change Initiative

5.Rainwater having a pH of 4 is:
(A) 3 times more acidic than pure water
(B) 10 times more acidic than pure water
(C) 1000 times more acidic than pure water
(D) 3 times more basic than pure water

(E) 10 times more basic than pure water
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=~ Coral reefs are produced when corals acquire calcium ions (Ca*") and carbonate
jons (CO5%) from seawater and deposit solid CaCO; to form their exoskeletons.
Scientists are concerned that relatively rapid decreases in ocean water pH will
hinder the deposition of CaCO;. The graph above shows the amount of CO,
dissolved in ocean water and ocean water pH (shown in parentheses) since 1850

and the predicted changes through 2100. ( You can answer the following

questions in Chinese. )

(a) Explain how an increase in the amount of dissolved CO, in ocean water
results in a decrease in the pH of ocean water. (5% )

(b) Explain why the movement of carbon into the ocean has been increasing
since 1850. (5%)
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